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EXERCISE 11.10: Use convolution to find the time function that corresponds to the Fourier transform

Y(iew) — sin(2w) sin(w)
(jo) = ( (@/2) ) ((w/2)>
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Y w) = ( Svn 2w )( Sin w )
J wfs W
—, inverse bransform is a
PUISQ of I%H‘ 4 Pulsc of lenai-‘h 2, Bxlﬂmdfv:j

from t=-1 o t=+4
wit+2)-w(t-2) ‘) ult+r) ~u(t-1)

Y = [u(ﬁz)-u(é—l)‘)X—[u(m‘.-fl)—u.(f:-l)]
= wltr)r u(t+) —ult+2x ult -0 - u(t-2)k ultr) + ult-2)x u(é-r)
= (E+3)u(t+3)- ({:H)u(‘fﬂ)-(t-r) w(t-1) + (£-3)u(¢-3)
Storts ot t=-3  at t=-) af t=| sl t=3
& for t<-3
= \(t+3) ©r -32t<-|
2 for 12t < |
(-t+3) for 12t<3
o) for t>3

The Plo% has the shape of a Hape.&onl:l—i
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There are wawy ways to perform this convoluhon, but Reve

we uvsed o welbhod based on cavwolvfna vmt steps:
wlt—t) ¥ w(t-ta) = (-t -tHu(t)
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